

Letting:

08210413

Florida Department of Transportation

Vendor Ranking

Call Order: 003 Contract: E8T07-R0

Page 1 of 1

District: Turnpike Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 19288817209 (*)

Contract Desc: MOWING & LITTER REMOVAL - SAWGRASS EXPRESSWAY

April 13, 2021 02:30 PM

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Winning bid	\$409,741.66	100.00% Inte
2	SOUTH FLORIDA BUSHOG SERVICE, INC.	Responsive	Non-Winning Bid	\$449,052.50	109.59%
3	AERO GROUNDTEK LLC	Responsive	Non-Winning Bid	\$549,957.50	134.22%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$597,425.50	145.81%
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$807,104.50	196.98%
	COLE-BON BUILDERS	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: APRIL 27, 2021 4:00 PM



Tabulation of Bids

Letting: 08210413 April 13, 2021 **Call Order:** 003 **Contract:** E8T07-R0

District: Turnpike Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 19288817209 (*)

Contract Descr: MOWING & LITTER REMOVAL - SAWGRASS EXPRESSWAY

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform routine roadside, slope and small machine mowing, including litter removal along the Sawgrass Expressway (SR 869), from Mile Post (MP) 0.0 to MP 21.8.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

	No / Item ID Description	Alternate	Quantity Units	(1) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.		(2) SOUTH FLORIDA BUSHOG SERVICE, INC.		(3) AERO GROUNDTEK LLC	
	dicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00	001 (L	ARGE MACH	IINE MOWING (AC					
0005 MOWIN MACHII	(GULAR/LARG	9,900.000 E AC	4.50000	44,550.00	10.00000	99,000.00	18.00000	178,200.00
0010 MOWIN	E104 4 2 IG (SLOPE)		1,500.000 AC	24.63000	36,945.00	40.00000	60,000.00	65.00000	97,500.00
0015 MOWIN	E104 4 3 IG (SMALL MACH	INE)	526.500 AC	63.24000	33,295.86	75.00000	39,487.50	45.00000	23,692.50
0020 LITTER	E110 30 REMOVAL		35,795.000 AC	8.24000	294,950.80	7.00000	250,565.00	7.00000	250,565.00

Page 1 of 4



Tabulation of Bids

Page 2 of 4

Letting: 08210413 April 13, 2021 Call Order: 003 Contract: E8T07-R0 Line No / Item ID (1) KNIGHT PROPERTY (2) SOUTH FLORIDA BUSHOG **Alternate** Quantity (3) AERO GROUNDTEK LLC MANAGEMENT SERVICE, INC. SERVICE, INC. **Item Description** Units () indicates item is bid as Lump Sum **Unit Price Unit Price Ext Amount Ext Amount Ext Amount Unit Price** SECTION: 0001 (LARGE MACHINE MOWING (AC 0001 LARGE MACHINE Section Totals: \$409,741.66 \$449,052.50 \$549,957.50 **MOWING (AC) Contract Grand Totals:** \$409,741.66 \$449,052.50 549,957.50



Tabulation of Bids

Page 3 of 4

Lettin	g: 0821	10413 Ap	oril 13, 2021	Call	Order: 003		Contract:	E8T07-R0		
	No / Item ID Description	Alternate	Quantity Units	(4) T & M LAV SERVIC		(5) SUPERIOR L & LAW				
	dicates item is bid as	s Lump Sum	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (LARGE MACHINE MOWING (AC										
0005 MOWIN MACHII	•	GULAR/LARG	9,900.000 E AC	35.00000	346,500.00	24.00000	237,600.00			
0010 MOWIN	E104 4 2 IG (SLOPE)		1,500.000 AC	50.00000	75,000.00	34.00000	51,000.00			
0015 MOWIN	E104 4 3 NG (SMALL MACH	IINE)	526.500 AC	35.00000	18,427.50	33.00000	17,374.50			
0020 LITTER	E110 30 REMOVAL		35,795.000 AC	4.40000	157,498.00	14.00000	501,130.00			
	0001 LARGE M MOW	IACHINE SectING (AC)	tion Totals:		\$597,425.50		\$807,104.50			

Contract Grand Totals: \$597,425.50 \$807,104.50



04/23/2021

Tabulation of Bids

Page 4 of 4

Letting: 08210413 April 13, 2021 **Call Order:** 003 **Contract:** E8T07-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.